o128 & 9 I &t A
Kl 511 : 20198 12 1242E 20198 122 31 LIHK|
X 50 71 : 20188 1& 122H 2018 128 312K

M RTASIANR O S50 (Eh2| : BHOLR)
ni; = =4 K51 () Il Xl 50 (&) 21
.0 & A 31 230,400,881 243,771,415
.0 & & It 23 147,239,549 132,394,411
H.OHE S0 83,161,332 111,377,004
CHiHdI2k2teld] 23,24 55,392,823 52,490,335
v.g g ol ¢ 27,768,509 58,836,669
JIEE &= < 25 1,778,666 1,485,037
JIEF HI 2 25 1,414,707 1,142,018
A=zdole 11 412,960 539,845
=38 = ¢ 26 10,161,632 9,999,321
=& H 2 26 8,274,811 8,608,896
V. gelMbIEXZEE=01Y 30,432,189 61,159,958
g ol Al & 27 8,693,324 16,815,101
VL.EJl=01Y 21,738,865 44,344,857
K1Y azF=X2 21,505,054 43,890,877
HIXIBHXIZ 233,811 453,980
ViL = & 0l & 28
J2=E0I2(EHl: J) 3,166 6,461
S| AZ=E0|2U(EHRI: ) 3,166 6,461

BE FAS 2 CRASHIES] L=ALICH
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HI51 01 : 2019 12 1L2E 2019 128 312K
X500 : 2018 12 1L2E 2018 128 312X
ASEXIZ=AIS| AN O B2 (ES )
ni; = =4 M 51 () 21 M50 (&) 21
|, eiFe|=0l2 21,738,865 44,344,857
. 12D |EfE a0l 3,016,194 (12,242)
SERMOR CH)|20I0Z YEREX| o= T2H20! (50,765) (656,647)
1. JIEFEZE-DE IR 2SS AAE 20 8 2 1,146,599 (235,865)
2. 201 & BSI 12| JIEFE=010) CHEH Xl 11,22 (16,89) (10,631)
3. =SESURAU(RHAY HSHL 16, 22 (1,180,468) (410,151)
SERMOR P[220 YERE|= T2 3,066,959 644,405
1. 2HDIY & BSO149| DIEEZ=I0) THSH X2 11, 22 48,649 6,688
2. HRAAIZBHALRIZEXIO| 2 3,016,499 500,638
3. H2SEQIESITIIHMAET I 2 1,811 47,079
Il EEZ20] 24,755,059 44,332,615
XD AREX2 24,466,985 43,882,473
HIXIBHXI= 288,074 450,142
HE T2 2 ARNRHES L2ILICH
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